Tract #8-21 Cranberry	/ Pine 2 - 101 acres	1276	D&D		Lamb	pert	J	elinek	Future	wood
<u>Species</u>	<u>Tons</u>		Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	Bid Value	<u>Total</u>
00	1000		\$10.50	\$10,500.00	\$12.90	\$12,900.00	\$5.00	\$5,000.00	\$7.65	\$7,650.00
PW	475		\$15.50	\$7,362.50	\$10.90	\$5,177.50	\$10.00	\$4,750.00	\$8.75	\$4,156.25
MR	470		\$10.50	\$4,935.00	\$12.90	\$6,063.00	\$10.00	\$4,700.00	\$7.65	\$3,595.50
PJ	350		\$15.50	\$5,425.00	\$10.90	\$3,815.00	\$10.00	\$3,500.00	\$8.75	\$3,062.50
PR	335		\$15.50	\$5,192.50	\$10.90	\$3,651.50	\$15.00	\$5,025.00	\$13.13	\$4,398.55
Α	140		\$3.00	\$420.00	\$6.00	\$840.00	\$10.00	\$1,400.00	\$7.65	\$1,071.00
Total Bid Value =	Minimum \$14,588.00		\$33	3,835.00	\$32,44	7.00	\$24	4,375.00	\$23,93	33.80
15% Performance Bon	d		\$5,080.00	<u> </u>		·		<u> </u>		

Tract #11-21 Battlepo	oint - 143 acres	1277	Lambert		D&	D	Hayes	
Species	<u>Tons</u>		Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	Bid Value	Total
00	2350		\$10.90	\$25,615.00	\$8.00	\$18,800.00	\$5.35	\$12,572.50
PW	1220		\$8.90	\$10,858.00	\$8.00	\$9,760.00	\$5.35	\$6,527.00
MR	920		\$10.90	\$10,028.00	\$8.00	\$7,360.00	\$5.35	\$4,922.00
PJ	630		\$8.90	\$5,607.00	\$8.00	\$5,040.00	\$5.35	\$3,370.50
Α	140		\$6.00	\$840.00	\$3.00	\$420.00	\$5.35	\$749.00
PR	140		\$8.90	\$1,246.00	\$8.00	\$1,120.00	\$5.35	\$749.00
Total Bid Value = Minimum \$28,882.00			\$54,194.00		\$42,500.00		\$28,890.00	
15% Performance Bor	nd		\$8,130.00	•				•

Tract #12-21 Starlight - 29 acres 1278		D&D		Solberg		Lambert		Hayes		Futurewood		
Species	<u>Tons</u>		Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	Bid Value	<u>Total</u>
PR	975		\$11.75	\$11,456.25	\$10.50	\$10,237.50	\$9.10	\$8,872.50	\$9.00	\$8,775.00	\$8.21	\$8,004.75
Total Bid Value =	Minimum \$5,460.00		\$1 ⁻	1,456.25	\$10,23	37.50	\$8	3,872.50	\$8,77	' 5.00	\$8	004.75
15% Performance Bond \$1,720.00												

Tract #13-21 Weber P	ines - 104 acres	1279		D&D
Species	<u>Tons</u>		Bid Value	<u>Total</u>
PW	1200		\$8.50	\$10,200.00
PR	475		\$8.50	\$4,037.50
00	300		\$8.50	\$2,550.00
Α	25		\$3.00	\$75.00
Total Bid Value =	Minimum \$7,997.50		\$16	6,862.50
15% Performance Bon	d		\$2,530.00	

Tract #14-21 Oak Oa	sis - 60 acres	1280	H	Hayes	Strzok		
<u>Species</u>	<u>Tons</u>		Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	
00	3000		\$10.00	\$30,000.00	\$7.00	\$21,000.00	
MR	1300		\$10.00	\$13,000.00	\$9.00	\$11,700.00	
PW	1000		\$10.00	\$10,000.00	\$14.00	\$14,000.00	
Α	100		\$10.00	\$1,000.00	\$10.00	\$1,000.00	
Total Bid Value =	Minimum \$24,340.00		\$54	4,000.00	\$47,70	00.00	
15% Performance Bo	ond		\$8,100.00				

Tract #15-21 County	C Pine -91 acres	1281	Kron		Biewer		5	Strzok	Wiit	ala		D&D
Species	<u>Tons</u>		Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	Bid Value	<u>Total</u>
PR	5760		\$38.50	\$221,760.00	\$40.77	\$234,835.20	\$37.00	\$213,120.00	\$35.10	\$202,176.00	\$30.50	\$175,680.00
PJ	1020		\$20.00	\$20,400.00	\$8.50	\$8,670.00	\$18.00	\$18,360.00	\$11.00	\$11,220.00	\$10.00	\$10,200.00
PW	300		\$22.00	\$6,600.00	\$8.50	\$2,550.00	\$18.00	\$5,400.00	\$16.00	\$4,800.00	\$10.00	\$3,000.00
00	145		\$12.00	\$1,740.00	\$8.50	\$1,232.50	\$12.00	\$1,740.00	\$8.00	\$1,160.00	\$7.00	\$1,015.00
Α	120		\$12.00	\$1,440.00	\$8.50	\$1,020.00	\$12.00	\$1,440.00	\$8.00	\$960.00	\$3.00	\$360.00
MR	55		\$12.00	\$660.00	\$8.50	\$467.50	\$12.00	\$660.00	\$12.00	\$660.00	\$7.00	\$385.00
Total Bid Value =	Minimum \$70,056.00		\$25	2,600.00	\$248,7	75.20	\$24	10,720.00	\$220,9	76.00	\$19	0,640.00
15% Performance Bon	d		\$37,890.00					•			•	

Futi	urewood	Solb	erg	Jelinek		
Bid Value	<u>Total</u>	Bid Value Total		Bid Value	Total	
\$27.82	\$160,243.20	\$25.50	\$146,880.00	\$24.10	\$138,816.00	
\$11.49	\$11,719.80	\$10.45	\$10,659.00	\$8.88	\$9,057.60	
\$11.49	\$3,447.00	\$25.50	\$7,650.00	\$17.10	\$5,130.00	
\$10.47	\$1,518.15	\$5.00	\$725.00	\$10.00	\$1,450.00	
\$10.47	\$1,256.40	\$5.00	\$600.00	\$8.88	\$1,065.60	
\$10.47	\$575.85	\$5.00	\$275.00	\$10.00	\$550.00	
\$17	\$178,760.40		\$166,789.00		56,069.20	

Tract #16-21 Pollies I	Pine -81 acres	1282		D&D
<u>Species</u>	<u>Tons</u>		Bid Value	<u>Total</u>
PW	2400		\$13.50	\$32,400.00
PJ	1600		\$13.50	\$21,600.00
PR	500		\$13.50	\$6,750.00
MR	470		\$9.50	\$4,465.00
Α	400		\$3.00	\$1,200.00
Total Bid Value =	Minimum \$26,744.00	-	\$60	6,415.00
15% Performance Bor	nd	•	\$9,960.00	•

Total Acres 609

Total Minimum Bid \$178,067.50

Total Winning Bids \$489,362.75

(275% over minimum)

Jackson County OSL

Tract #3-20 W Ta	t #3-20 W Taylor - 35 acres		D&D		oerg	Lambert	
<u>Species</u>	<u>Tons</u>	Bid Value Total		Bid Value	<u>Total</u>	Bid Value	<u>Total</u>
PR	1200	\$13.75	\$13.75 \$16,500.00		\$10,800.00	\$8.10	\$9,720.00
Total Bid Value =	Minimum \$8160.00	\$16,500.00		\$10,8	00.00	\$9,72	20.00
15% Performance	e Bond	\$2,48	30.00				

Tract #5-20 Hill F	Rd - 63 acres	D&D			
<u>Species</u>	<u>Tons</u>	Bid Value	<u>Total</u>		
PR	1620	\$7.75	\$12,555.00		
Total Bid Value =	Minimum \$5,346.00	\$12,5	55.00		
15% Performance	e Bond	\$1,88	30.00		

Monroe County OSL

Tract #1-21 Soper Creek - 70 acres		D&D		Ha	yes	Lambert		
<u>Species</u>	<u>Tons</u>	Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	
PJ	1050	\$9.00	\$9,450.00	\$10.00	\$10,500.00	\$8.60	\$9,030.00	
00	550	\$7.00	\$3,850.00	\$10.00	\$5,500.00	\$8.60	\$4,730.00	
PW	100	\$9.00	\$900.00	\$10.00	\$1,000.00	\$8.60	\$860.00	
Total Bid Value =	Minimum \$10,170.00	\$14,2	00.00	\$17,0	00.00	\$14,6	20.00	
15% Performance	e Bond			\$2,58	50.00			

Tract #2-21 Canyon Conifer - 24 acres		Hayes		Jelinek		Soll	Lam	
<u>Species</u>	<u>Tons</u>	Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	Bid Value	<u>Total</u>	Bid Value
PR	550	\$12.00	\$6,600.00	\$18.22	\$10,021.00	\$9.00	\$4,950.00	\$8.75
Total Bid Value =	Minimum \$3,740.00	\$6,60	00.00	\$10,0	21.00	\$4,950.00		\$4,81
15% Performance	e Bond			\$1,50	00.00			

bert

<u>Total</u> \$4,812.50

12.50